L&céurt 24 I 92 Mo 2010
Hou;tL(t/rMJ‘ EXGMZ 7:& Arf é 7‘?rm WetL 1,316

Las} —Am-’ /’mrnrgr M‘/tjm/s
go -a,f we ¢(w47$ IaaL&»( 4'/ ‘ﬂnm"hns #(X)

oml\] one VNMUL .

INA‘:“’ %Mjs 0#"6\ A&rcnt‘ Oovn Me st 4“\-» one \/m'qtl«..

e.j‘ ’\H\‘ L“""M‘l“_ A@rutls on ’E&v«’pgqu\«n aM( Lum.‘l/fﬁ .
‘C(XM) X s

or J’L\g Q,'tva“\m oL‘um's on LM;I‘JMJC e ahhde
-H-:. ]Jf‘dvtLLusc cltrMJSm SEF‘Z(:] and D‘Moul

?M’Lal derivahves LC_L /S .3)

I'Cwe 'r\we —c(x, 1) We Can asL’
. Hav o‘ocs “1 (,L\p.:f. o‘ e VU‘] X Qa ’,#L NL;IC L‘,Jpj ;, Oons-LnJ‘?

Debe DF _ | b= Hlgy)
(a)( h—0 h
o caledabe ok deat y o const auk dillenchak bhe vinel
wlL rqr "")(.
YA
El If (:(x,tl\ = 'XZSm(j) Hlen oW = 2x Sin(j)
Ex IF #ol=sdsily) Hon %’f at (oy)= (1 %) is 241=2




Sldy 2 _ | Hlyyebl=Tiny
4 ko L
(Wit conshark ol dferchiake w/ecspect 4o y).

E’f S“} 7) L/)( 4t 75,,, (x)
2L - Pis _ U 2
5; - u(’() D? —L_/_;(:

Can clse bk et 2% den
208-80  3B)-5
2 “
» % I
X (91 ) (le)' 8% Y (‘57‘) = —-(qx ) O
: o
Ox 94 9‘91

he: B _E | o L U,
e ZETE | T b )



é‘- ’p()( 7) = Sin (xv)

3“ \} Cos (x-,) 5}—: = X Cas (Xl’)
5%:"?: (} Crs (X'7“ ) 72- -~ ()( (€ (\07))
= ,1 \}(—SGA(X")) = x X(" Sm()(v
- "‘}15"‘ ) = - x”s»&xq\
X D[\ D
S;)— - I () ) I (X%("'I) | cos(xy)+x («}sn(xy))
/ 1 :
= o wﬁ XY Sin (5(7)
D (¥
AE:) -2*7' ) = s (\uﬂ - x»l Su\(y»;}
Lecose > T4

gbé 'H"" LVM“HJ»
“oon’(\wr MT,‘°£ -c

(‘o L“V (.»Lr - |0f er
Toan 9




3-d wam 1 (\,Q;Ju = £09))

—> el

? m,.'-“w UUFL ”
o drsnbil/

[Q"(. ‘por L\chr OlCﬁch‘lw;]



